
Calculations  4-44

Rounding

Fractions

(In this case, you can simplify the calculation 
by reducing the fraction 300/900 to 1/3 and 
get the same result.  But, if you divide the 
fraction to get a decimal [300/900 = 
.333333...] and then round the decimal either 
down [.33] or up [.34], your calculation will 
produce either an underpayment [$703] or an 
overpayment [$724].) 

$2,130 
(prorated Annual Award)

X
300
900

(hours in payment period)

(hours in award year)

Step 1:  $2,130 X 300 = 639,000
Step 2:  639,000 ÷ 900 = $710

TWO MATHEMATICAL NOTES

When making disbursements, round to the nearest dollar: Round up if
the decimal is .50 or higher; round down if it is less than .50. For instance, if a
calculation resulted in a payment of $516.66, round up to $517. If the
calculation result was $516.33, round down to $516. The payment system
will not allow payments including cents.

For a student who is expected to be enrolled for more than one payment
period in the award year, the school must alternate rounding up and
rounding down to ensure that the student receives the correct amount for
the year. For example, if a student had a Scheduled Award of $1,025 to be
paid in two payment periods, the first payment would be $513 (rounded
up from $512.50), and the second payment would be $512 (rounded down
to ensure that the student is not overpaid for the year).

The same principle applies when there are three or more payment periods
in the award year. For instance, if the student has a Scheduled Award of
$1,100 and enrolls at a school using quarter terms, the payment for each
term would come to $366.66. The first two payments would be rounded
up to $367, and the last payment would be rounded down to $366 to reach
the total of $1,100.

When using fractions, be careful to multiply first, and then divide to avoid
making an overpayment. For example, to calculate the payment in a
program that has three payment periods of 300 hours each, you should
use the method in this example:


